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[21-BS334]
AT THE END OF THIRD SEMESTER
(CBCS PATTERN) EXAMINATION .
'SICS - 11T - HEAT AND THERMO DYNAMICS.
UG PROGRAM (4 YEARS HONORS)
 (wef. Admitted Batch 2020-21)

: 3 Hours _ * Maximum : 75 Marks
Section - A
-:'!  Dgrifdn - D
Answer any Five questions. | (5%5=25)

éo& FS° DT 0th BHH v&rerdo [@rabod,

. State and explaln prmmple of equlp'lrtltlon of
energy.

4§ Dw¥) 38 (equi partltlon) SER) (7D
DBB0S0A.
2. What are isothermal and adiabatic processes.
RS B, $E7G8 HiBaben oSmR?
3. ShowthatC JC=y,

CJ/C,=7 .
2 Explam the distinction between adiabatic and Joule
- thomson expansion.
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Derive Wein’s law from plank’s law.

2208) AcHHED Hod F) VDI Tearod.

Calculate the efficiency of a reversible heat en
working between 72°c and 187¢c.

72°c Hdako 187°c affirde i STD &
6y dhodo &g &&%&»ﬁ) 88 0.

Calculate the temperature of inversion of hel
gas.

Given that a=3.44%10" nt—m*/ mol’

b=0.0237x10"m*/mol and R = 8.31 Jo
(mol-k).

_&wmao TR BwE) &S SRPKSS SR

Calculate the temperature of Sun from
following data : S = 1.34 kW/m2, radius of
7.92x10° km. Distance of the sun from the ¢
1.5%10° km and stefan’s constant = 5.7x10°

. o

& (Sob dezodo ol R85 ARPKED Gl
§ = 1.34 kW/m’, g TR0 = 7.92x!
Qo8 g8 G Ko rEo = 1.5x10%km
QS o8 = 5.7x10% W24
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Section - B
ogriisn D
Answer all the questions. (5% 10=50) :

;@. a) Apply the iﬁetic theory to obtain an

10.

11.

@@:&Wm

b)

expression for the coefficient of thermal
conductivity.

oS0 NPOS0 STPBOIT &l T KHeEns
588005 TaROL.

What are transport phenomenon in gases?
Derive an expression for diffusion of gases
on the basis of kinetic theory.

o)Hd BHNAdHIven IrID? omrSes
drpodo egrBore ardky B3NS HinEdoo

mmégo&.

State and prove carnot theorem.
oS DpoEnd HER ArhoBol,
What is entropy? Find the change in entropy
when ice changes to steam.

SSTRD? H0D, VB 6IBP SPOIHPD
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Define four thermodynamic potentials.
Obtain Maxwells thermodynamic equations
using these potentials.

831858y SBYHSoH IggDoSol. HA
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I13.
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What is clausius - clapeyron’s equati

Derive this equation using Maxwe|
relations,
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Explain the Process of adaiba
demagnetization.

RE°GE eahos BT B8 D60

radiation.

208 NP LD o) @%ﬁ&)aé grden 8
o8y NALEPY AEFPBOSoR.

Angstrom’s pyrheliometer.
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